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first communication. In the second communication, you
have 45 seconds to clarify your response. No time

will be given to prepare your response. Now, listen.

Imagine that you are the Tower controller of an
airport. In the landing sequence. King Air502 is
number on followed by Fokker 613. Upon
touchdown on Runway 121, King Air 502 has
landing gear failure and remains on the runway.
You intend to instruct Fokker613 to either make a
sidestep on Runway 12R or to execute a missed

approach. Fokker613 now comes in
(Audio Only)

Imagine that you are the Tower Controller of an
airport. In the landing sequence, King Air 502 is
number one followed by Fokker613. Upon
touchdown on Runway 12L, King Air 502 has
landing gear failure and remains on the runway.
You intend to instruct Fokker613 to either make a
side step on Runway 12R or to execute a missed

approach. Fokker613 now comes in:

Pilot : Tower, Fokker613 passing the inner

marker.

Controller: (15")

= Fokker six one three, leading aircraft still on
the runway, sidestep to Runway one two right
or execute a missed approach.

Pilot: Tower, please say again; what's the

problem?

Controller: (45")

& Fokker six one three, King Air five zero two,
the leading aircraft still on Runway one two
left due to landing gear faillure, make a
sidestep to Runway one two right or execute a
missed approach at your discretion.
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